Ubungen A 17

Berechnen Sie fur folgende Gleichungen die Losungen:
a) x* —4x? +x+6=0

b) x* —29x? +100 =0

C) (x-4)(x+3)=(x+5)? -4

d) x* —=5x? +3x=0

e) x> +6x*=0

f) x* -81=0

g) 0,4x> +12x? —=52x-6=0

h) —5x2 +20x =0

i) IR —lx+1,5=0
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j) —05x* +5x%? -45=0

k) 1 Zx-20=0
5

) —x2+81=0
m) 0,5x* -8x2 =0

n) —3(x—1)=-4(-2-x)+2

o)gx+15=0 u) —-3x* +21x? -36 =0
p) 3x* -85x? -45=0 v) 0,1x® -02x? -04x+08=0
q) —05x? -45x-4=0 W)—%x4+2x3—5x2=0
r)§x3—lx2+§x—2=0 X) x* —18x? +81=0
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s) 4x* -6x* =0 y) x* —x*> -19x? —-11x+30=0
t)1x3—1x2—7x=o z) x* —28x% -1148x%? +24x =0
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